QUESTION BANK
SOCIOLOGY

UNIT-XII & XV

Change and Development in Industrial Society . Social Movements

HeT7—pIVT (Assertion-Reason) (01 Mark)

Answer Options (38X f@&eq( (for all questions)
(A) Both A and R are true, and R is the correct explanation of A.

A 3R R ST TET§, AR R, A FTET SATEAT B |

(B) Both A and R are true, but R is not the correct explanation of A.
A 3R R a1 T E, AfheT R, A T TEY caTEaT AET ¥

(C) Ais true, but R is false.

ATE g, dfehed RITAT 81
(D) A is false, but R is true.
A ITeld §, eifehel R HET &
QUESTIONS-
1. Assertion (A) | ®YeT (A): Industrialization led to urbanization and an increase in job
opportunities. yaﬂa?n?ﬂw o AEHIOT 3R AR & ITET H aiﬁT Eq)

Reason (R) | dRUT (R): Industrial societies primarily rely on agrarian economies for
employment generation. | m HATST HET 9 q Efﬁf TIIFEATT W ASER
ot & o R axd €l

2. Assertion (A) | Y (A): Liberalization policies have reduced government control over
industries. | 3GRIEAOT AT o 3TN X TSR 0T & HA & &G4 B
Reason (R) | dRUT (R): Liberalization promotes free-market competition and privatization. |
3ENEROT AFT R Sfaeaet R e # ggrEr &ar gl

3. Assertion (A) | dYel  (A): Many people find jobs through informal networks rather than formal
advertisements. | s 9T 3garier A=t & el H IAgaRS sleds & ATEIH
q AR 91 gl
Reason (R) | dRUT (R): The informal sector is a major source of employment in India. |
IATATRS &1 R # ISR T T J7T A ©l

4. Assertion (A) | YT (A): Work in industrial society is highly specialized. | m HHATST
H & 3icafed faferse ghar gl
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Reason (R) | dRUT (R): Division of labor in industries increases efficiency and productivity. |
3NN H AH TAHTSA SaTdT 3R IcurgehdT derdm gl

5. Assertion (A) | Y (A): Working conditions in unorganized sectors are often poor. |
HEITSA &1 7 HIA Her @1 Fufa 3@ @« gidr gl
Reason (R) | dUT (R): Unorganized workers do not have legal protection and fixed wages. |
IS AR Y gt TReTor IR ARG acfer =g Forar|

6. Assertion (A) | YT (A): Home-based work provides flexibility but lacks social security. | €1X-
MR 1 NI YTl AT § Afohe] SHA FTHATISTH FI&T T AT gl &
Reason (R) | dRUT (R): Many home-based workers are not covered under labor laws. | FS
EL-3TUTRA A{HS A Hlofeil & Heeld 781 3|

7. Assertion (A) | YT (A): Strikes and unions play a crucial role in protecting workers’ rights. |
gsdlel 3N iAael HTAH & AHTURRT HT &M A Agcaqul HfAHI AT Bl
Reason (R) | dUT (R): Collective bargaining is an effective method to demand better wages
and conditions. |Q=|'I?=|ﬁ?5 Ficars dgaX ddeT 3R aRFEfaat Fr AR F &1 T
gaTdr AT B

8. Assertion (A) | YUl (A): Social movements aim to bring about or resist social change. |
TATSF 3Tl ATATGTh IR oflel IT 3R ORI kel HI 16T WA &
Reason (R) | FROT (R): Only violent protests can be considered social movements. | shdel
e et o & FraAfois 3Meicled AT ST dhaTl &l

9. Assertion (A) | YUl (A): Class-based movements focus on economic inequalities and worker
rights. | FET-3meTRA 3tigrereT 3 3@AART 3R 4fF@w 3Rt W Siga g &
Reason (R) | FRUT (R): Peasant and worker movements in India emerged due to unfair wages
and exploitation. | XA & frarT 3R sf@+ e 3101Irt\ld ddeT 3R M9uT & HROT
3ol g’UI

10. Assertion (A) | Yl (A): Caste-based movements have played an essential role in social
justice in India. | STTA-3MUTRA Malelll A HRA # WHATGD #A1 H Hgcaqul AT
[GEIER]

Reason (R) | dRUT (R): The Dalit movement aimed at eradicating caste-based discrimination.
| &fora 3rieYereT T 3ary SNfa MU ASHTT T FATCT AT 2T
11. Assertion (A) | dY¥el  (A): Environmental movements have gained momentum in recent

decades.|mmﬁma?aﬂﬁﬁ3ﬁ9mﬁgl

Reason (R) | dRUT (R): Climate change and deforestation have made environmental

2|Page



protection a global concern. | STefdTg gRadeT 3R gaT T Fers o TATE0T TIETOT Hl
ARge [ar =1 vy sar &I g1

12. Assertion (A) | Y9 (A): The Narmada Bachao Andolan opposed large-scale dam
construction. | AFNGT FATT Taleld §3 YA W Sy AT Fr ey Har am|
Reason (R) | dRUT (R): Large dams lead to displacement and loss of livelihood for affected
communities. | ¥ STET G FHERT & faeumas AR SfdeHT & JhdleT HT HROT
SAd &

ggldsolg F97 (Multiple-choice Questions) (01 Mark)

1.  Which of the following is a major impact of liberalization on industrial labor in India?
fArfaf@d & @ Fld @1 4R 7 NAAE sF7 R 3SRAOT FT JJG IHT 82

(A) Increased job security / 6T g‘é‘; ST hr qam

(B) Growth of informal sector employment/H?-quﬂTﬁ?F a7 H ASER a‘_'c"ﬁ'

(C) Decline in private sector investment / foSiT &1 & fder # @Rmac

(D) Strengthening of labor unions / A& F&T Hr HGI_GI‘\T-ﬁ'

2.  What distinguishes the formal sector from the informal sector in terms of employment?

UTIR & &7 7 oo &7 &1 3=uaiie &5 & AT 37e19T Hldr g7
(A) Regular wages and legal protection / afaa ader 3R EI'TIT-IG\??[ HI&TOT
(B) No working hours restriction / F gl W Ehélé' EIGEL G
(C) More job opportunities / 37T ISR & 37T
(D) High wages for all workers / T8 #ffal & fov 3Ta da«
3. Which factor has led to the decline of trade unions in India post-liberalization?
3ERIAUT & §T¢ $Rd H ¢35 IfAgell # FREC &1 HROT Sl 67 HRE g2
(A) Rise of contract labor / HTGGT S HT 3¢
(B) Strengthening of labor laws / HH qnloj\o-i\i Hr Hdslc\ﬁl
(C) Government control over industries / 3?\:€I>I'=1'IT W AR =0T
(D) Increase in permanent workforce / TUTAT ST H El?(ﬁT

4. In the era of globalization, how do many people in India find jobs?

ST & T A, HR F AT AR B Ty &
(A) Through family and social networks / IRAR 3R ATAIGS sicash & ATETHT &
(B) Through government agencies / XN ToTOAT & ATEITH o
(C) By joining labor unions / #ffih Hel & [T
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(D) By purchasing employment contracts / IIST9TX 3-|o:|°®itl TG
5. What is a major characteristic of home-based work in the industrial sector?

efaer &F & eR-3MRT FF H Toh GHE [FATAT 4T 82
(A) Low wages and lack of job security / el ddel 3R ST T qa $r FHAT
(B) Fixed working hours / [@fRad &1y g&7
(C) Strong employer-employee relationships / ST faFdr-saar gy
(D) Social benefits like pensions / 91T ST arAToe ﬁﬁﬂ'l’ﬂ'u

6. Which of the following best defines industrial strikes?

farafaf@a # & &l 3ieAfe gsdrer &I Fafad & & aReRa axar g2
(A) Workers voluntarily leaving their jobs / #THe! &T TATST T allhl BISaT
(B) Organized refusal to work as a protest / TaRITT Ta®T HITST FY FESHR
(C) Employers locking out workers / IGRIESIK] CaRT HTFPT IS8T AP

(D) New employment contracts / 570 JSTITR 3] Y
7. How has technology changed industrial work processes?

Wefhr ¥ e w7 gfhansit & HI seor &2
(A) Reduced dependency on manual labor / 8/ W AR & &r
(B) Increased working hours / F g deIT
(C) Decreased efficiency in production / 3cUTGsT I G&TAT &hal T
(D) Eliminated social inequalities / ETHTToTh I HATAATAT Sl FATCT fham

8. What is a defining characteristic of a social movement?

el aaTTSTe 3ficielsl 61 IR fIATAT Far gidr g2
(A) Sudden, unplanned protests / 37T, AT TaRIer
(B) Collective, organized effort for change / gRadeT & fow W, qarfsa g
(C) Government-led initiatives / YR EaRT HAIfeld dgel
(D) Violent conflicts / f§@ qay
9.  Which of the following is an example of a class-based movement?
Afaf@ad & O 9 ar v geT-3maRa 3eiesT FT 38T &7
(A) Dalit Movement / Gfeld 3TGTele]
(B) Chipko Movement / el 3TgTelel
(C) Peasant Revolts / fp@reT fagle

(D) Feminist Movement / sTRIATGT TG Iolel

10. What is the primary focus of the Dalit Movement in India?
R H gfeld 3fialclel &I WUTAS 3cad T g2
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(A) Economic development of lower castes / T¥a=T STl &t 3 e

(B) Social equality and eradication of untouchability / HTHTISTR FATAAT IR IEGLIAT HT 3Tl
(C) Promotion of traditional caste hierarchy / IRURS STl qcleishd bl TR
(D) Religious reforms within Hinduism / 1%?{\ e H aTfAe JurR

11. Which environmental movement opposed deforestation in the Himalayas?
frg qaTarolT 3relesT o RATeT &7 gat it svers &1 farer

(A) Narmada Bachao Andolan / STHGT ST 3TgTele]

(B) Silent Valley Movement / TSelc dell 3TTGTelel

(C) Chipko Movement / Il 3TTeTelel

(D) Appiko Movement / 31fCUe! 3TTGIele

12. What is a common feature of caste-based movements?

SfA-3menmRa el T Teh AT [FAYar 7 82
(A) Struggle for social justice / ATHIGI =a1T & foIlT TEY
(B) Focus on economic policies / 3 Aifaal w eaa Figa e

(C) Promotion of political parties / Il cieh Gell &l JARK

(D) Industrial development / 3-ﬁa:€ﬂﬁl$ IGEL;]

13. What does the term ‘Backward Class Movement’ refer to?

(A) Demand for industrialization / ﬁ@?ﬂw Fr AT

(B) Assertion of rights by socially and economically weaker sections / AMHToeh 3 3 &0
& FHAR T C@RT AR A AT

(C) Revival of traditional customs / IRURSE ATA-Rarair &1 ORI

(D) Opposing land reforms / 3{\&!’ QE,[?JI'RT I fadrer

14. Which theory of social movements focuses on the availability of resources?
AT 3TaTeTsll &1 hiel AT [AcHTd AT $HT 3Tl W Higd §?

(A) Relative Deprivation Theory / TTJ&T Td=IT @?{UIH

(B) Resource Mobilization Theory / T&TeIT Slcrd @E"ﬁl’l?—f

(C) Structural Functionalism / TXdelTcH® fohdTcahd

(D) Conflict Theory / TEY ISECIGH

15. Which factor contributed significantly to the success of the Narmada Bachao Andolan?
THET T3 HMaleled &I HBoId! H ThE HRek Sl Agcd ol AeTare AT

(A) International support / TcRITSEIT aAdA

(B) Political backing / IsTellfaieh THAA

(C) Mass mobilization and legal intervention / SfeT SICTd 3R qwlo-lt\o-l‘\l gEdag
(D) Financial aid from NGOs / UaToil3lt & A Fgradr
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10.

11.

12.

f713aa BVl 97 (One word/definite answer questions) (01 Mark)

Which economic policy replaced planned industrialization in India?

SR Aroreiraey SeiNeor 1 B 3w Ay 3 sfeenRia fan
Which sector employs the highest percentage of the Indian workforce?

AR F T HOF AT B 8T § g

What is the process of shifting jobs from formal to informal sectors called?

daRe &7 @ 3EaRe a7 & AleRAT & TATHAGIOT 1 9fehar 1 a1 gl
ST 872

Which system allows workers to work from home, often without fixed wages?

HIT-ET YISl AfAHT I X F HH A T AT Sl &, IR foawr e
dcfel ?

What is the term for a group of workers stopping work to demand better conditions?

JgaX FY Tafaat i #@91 & T 4@ & 17 g€ F P FAT Fgl ST 82
Which type of industry is based on knowledge and services rather than manufacturing?
-1 3T fAAT & Fory AT 3R Qa3 W) 3rarRa g §?

What is the key reason for industrial disputes between workers and employers?

FiAn AR a3t & dra i@ fare w1 gea HROT F4r §?

Which term describes a work environment with unfair wages and poor conditions?

gE hieT-AT s § S eI doel 3R TR aRTEUfAt arel SRIES HT geifdr §?
Which act in India regulates labor unions?

AR H oA gl & AT T arelm Si-ar Afe=asq g2

Which term refers to a flexible employment system without job security?

PIT-TT e TSR T 3 GOTTell T Hefdidd el § Torasl wAtendr v gram =gt
gieir?

Which term refers to collective efforts for social change?
AT IREc & v A#fes JATET S FAT Hel STl 82
Which theory of social movements emphasizes economic factors?

TASF 3rgierat a1 Hia-ar e e sR&T W IR &ar g2
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13.

14.

15.

16.

17.

18.

19.

20.

Which Indian movement focused on saving forests?

AR FT HIA-AT EIcled Tl hl I UL shigd AT?

Which class-based movement in India fought for better wages and rights?

AR H forg aef-3maiRa 3niclelsT & 9ga¥ ddeT 3R SR & fav guy fHan
Which Dalit leader is associated with the Dalit movement in India?

HRA A gfdd 3feleed @ 53 J7@ AdT ST A2

Which social movement fights against caste discrimination?

lel-HT AHATSIR HGlelel ST AGHTT & [@elih IS T §7?

Which backward class movement led to the implementation of reservations in India?
HRA H HRETUT o] el & oI fohd SsT @97 Hielelel o aAdea feham
Which social movement led to the demand for separate Telangana state?

g ATATTSIS Meleld & 379 doidlaT AT HI AT 3TS?

Which theory of social movements highlights the role of grievances in mobilization?
AT eIl T Hicl-AT Fetid IHAY @ S H Hgcaqor Aol g7
Which concept explains why people organize for a common cause despite challenges?

FiT-a1 fAcuid adrar § & o wfsargal & aase R e 35827 & fau

I &g Si¥lg F97 Very Short answer questions) (02 Marks)

How did liberalization impact industrial workers in India?

3ERIAUT of HRd H AP sffe &I 8 gsiaa fomam

Explain the role of the informal sector in providing employment opportunities.
AT a4 VSR & AW el el H [T YR g g2

Why do many people in India rely on social networks to find jobs?

HRA H sl 91 & faT &g e Ao decad W AR &t gia &2
How have work processes changed due to technology in industries?

3T # S gfha? g & HROT HA Seel 62

What are the key challenges faced by home-based workers?

X O HH $ drel AfART I ohel GH@ FAITHIT T AHAT FAT ISl 82

Why do workers form trade unions?

5 33 e i T B
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

How do strikes affect both workers and industries?

gSaTel ATAFT AR el et B B wER el 8

What is the impact of globalization on employment patterns?
dedieoT T VolIR Yeed 9T AT JHTT 93T g2

How does the concept of ‘flexible labor’ affect workers' rights?
‘oTdiel A I HIUROT HfAST & IFRHRT FF F& Feriad Fr 8?2
Discuss the role of government policies in industrial development.
e R & TR At B = s e ¥
How do social movements contribute to social change?

FATSE IRAdT 3 TS et S e e 8
Differentiate between reformist and revolutionary movements.
GUREET 3R iy 3rieTelell 7 FaT AR 82

How does resource mobilization theory explain social movements?
T Haolel Agyid ATASS JHigrelel &l hd TASIAT 6?2
Why are environmental movements important in modern society?
3k HATST H GHRONT eIl HT Hged F4T &7

How have worker movements shaped labor laws in India?

S HeTerslt ¥ SR 3 A P F B TR R 3
What were the main objectives of the Dalit movement?

afolcl 3fielelel & HET 3eced &1 47

Why do caste-based movements continue to exist in India?

HRA # SIA-3TETR 3Hielelel et 8 &4t #Higg 82

How did the Chipko Movement influence environmental policies?

RI9ep! 3MTaTes & qATaRoiy Aifaat & 8 genfad fam
Explain the significance of peasant movements in Indian history.

AR 3ferd 7 R 3neiest #1 FT Aged &2

How do modern social movements use digital platforms for mobilization?

Wmmwa?ﬁv%ﬁzﬁﬁwﬁ#wwwm%?

g Far¥lg F97 (Short answer questions) (03 Marks)

How did the transition from planned industrialization to liberalization impact the Indian
economy and workers?
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10.

11.

12.

13.

14.

ArteAracy 3iteaefevor @ 3efiavor & 3R aRadd o ARA 3rdegaear 3K
HfAAT I FY gATAT THAT?

Explain how globalization has influenced employment patterns in India.

FeAHIT o HRA H VIR Yool ol H8 Ferriad fohar g2

Discuss the major challenges faced by workers in informal sectors.

et 8 # A B I arh s et Wt w5t

How do factors like caste, gender, and education affect a person's ability to find a job?

ST, fofer 3R 8T S R [l cafdd &7 silendl drel &7 &THAT 1 Hy gaTidd
A 87

Compare the advantages and disadvantages of home-based work.

WY BT o A & o AN @ A e Y

What role do technology and automation play in changing work processes?

SR Gish3t &l Teore H FigAITThT 3R Faarest 6T &1 fAer g7

How do trade unions contribute to improving the conditions of industrial workers?

3 e e Afdw & Rl guRe F dy A & 8

Why do workers go on strikes, and how do strikes affect industries and the economy?

A% g3dTar W FAT S §, 3R gSare 3NN 3R ITcTaedT i Hd geniad
AT 87

Examine the impact of economic liberalization on labor laws and workers’ rights in India.

3MMTeieh 3ERIOT &1 HRA H HH Fiofeil AR AfAR & TSR T F4T GeId qsT
g7

How does migration affect industrial workforces in urban areas?

gardel el & # 3eAfPe FiEd @ HY gHTAT AT 87

Define social movements and explain their importance in society.

ATHATTSS JMGleldA] sl IRATT L 3R FATST H 3oIh Hged Pl JHAST|
Discuss the major differences between reformist, revolutionary, and resistance movements.
FURETE, R I TR et & @ s v o T w

Analyze the impact of environmental movements on policy changes in India.

HRT H YATROT Jeterslt & Afd IRads1l W g8 &1 faReyor Y|

What are the main objectives of workers’ movements in India?

HRA H AfAS 3Melelal & FTT 3eced T 82
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15.

16.

17.

18.

19.

20.

How have caste-based movements contributed to social justice in India?

STa-3menRa 3neielal of #HRd # AT ~ag # S8 IeTe &ar §2
Discuss the significance of the Dalit movement in empowering marginalized communities.
gfeld 3fieTelel & g1V W g1 dTel FHGRAT I TAF Folled H FIT Hged 27
How do peasant movements highlight the issues faced by farmers in India?

fraTeT Jneies ARd 7 fFaml i FAEIAT F HE 3APR Hd g2

Examine the role of leadership in the success of social movements.

AT JTeTeleil T Fheldl H aAccd I fASI 6T Sia AL

How has globalization influenced social movements in India?

0T & WRAT H HIATSTS 3Mclell 1 Hd FHTad foam g2

Compare the role of media in shaping public perception of different social movements.

=T ArATiSIh MieTell &l Hdellelch RO T 3R ol H HTSAT hT HABT I
ettt |

F7e Gcavig g9 (Long answer questions) (05Marks)

How has the transition from planned industrialization to liberalization impacted the Indian
economy and workforce? Explain with examples.

Ireter TR i@ NFIor & FERIEr A A FHAT A ARAT Irdegaear dR
7 afFd F FX yanfaa frar &2 3eeor afa asET)

In what ways do social networks and personal contacts help people in finding jobs in India?
Discuss the role of informal hiring.

R H g dAcaw 3 AfFaara Tus et FF JAleRAT 9o F F& A F I
&2 Ietaai ardt & sifdwr @ ==t F

Examine the impact of technology on work processes and working conditions in contemporary
industrial society.

sryfas steaifs garer F & wfranat sl # aRfFufaat w g &
gHIT & ST

How does home-based work challenge the traditional employer-employee relationship?
[ustrate with examples.

WR-3ruia 1 IRIRF Frlear-wdardt dey Ft & gald a1 &2 3emeor &R
AR

10| Page



10.

11.

12.

13.

Analyze the role of trade unions in protecting the rights of workers in India. What challenges
do they face in the present scenario?

AR & #ffw wul fr qfAwr 1 RAedwor #3) F A F fOFERt v a7 F@
eS¢, AR adAe aReed & 3 frer gotfaat 1 amen & @

Why do strikes occur in industries? How do they affect employers, workers, and the economy?
3NN 7 g3drel 41 gt 87 ¥ fadaanstt, afAwt 3R srdeyaedr #r F@ vl
HTA &7

Discuss the ethical dilemmas associated with hazardous working conditions in industries. How
can they be resolved?

3¢ A Gt H1d IREYfAE § I3 Afas glaumst w a=t FU 5w ]9 e
& s gehar @

Compare and contrast the working conditions of organized and unorganized labor sectors in
India.

AR # Worfsa 3 Irwarfea 7 &t i wrb aRTPufaat @ goer #¥ 3R 39%
AT F TS

To what extent has globalization influenced job opportunities and employment patterns in
India?

dedfietor A HRT H VTR & 3T 3R BR & et # FE g€ aF vwanfad
frar &2

Examine the factors that lead to job insecurity in the industrial sector. What measures can be
taken to improve job stability?

seifire s & et A1 aRRET & FROR A o T A B RoRE
U & v Fi9-#la & 39w fre a1 @@

Define social movements. How do they contribute to social change? Give suitable examples.

AEATAF A F47 &2 F WAt aRader # F@ Ierer & &2 3ugad 3o
wfed wHEEl

Compare and contrast reformist and revolutionary social movements. Provide historical
examples.

FURAE 3R Fifawrl grfas nela=t F gaar #¥ AR Waerf@s sqmeor &)
Discuss the significance of environmental movements in India. How have they influenced
policy-making?

ART & 9ATEIOT eIl T Agcd AT g7 Jeaid Afa-AATor # F4 vyenfaa Far
&
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14. What are the major challenges faced by workers’ movements in contemporary India? Suggest
ways to strengthen them.

Iryfas oRa # AAF eIl F qHaT yHE Alfaat F21 & 58 AoqT FA F
v a1 gema Ru a1 ¥+

15. Analyze the role of leadership in peasant movements. How did leaders shape the direction of
these movements?

e Jele=t & Aqea A AT FT RRAVT F| AT 7 g el Hr fwm
N FX AR AT

16. Examine the impact of the Dalit Movement on social equality in India. What are its
achievements and limitations?

HRT # WHATTSIR ARG W Efod Helde & YT A T Hl TR 3TdATAr
17. What are the main objectives of the backward class movements in India? How successful have
they been in achieving their goals?

AR 7 R a9t deal & AT 36527 FIAT 2 F U T84T F 9IoT A A
fFas ava wW

18. How do class-based and caste-based movements differ in terms of ideology and objectives?
Fet-amenRa 3R Snfa-3mafa sneest & faamun 3k 3qdeat & deet 7 Fr
R &

19. How has the digital age transformed the nature of social movements? Discuss with reference to
recent examples.

BfSee gor & aEnfas ndteat #r gHfa Fr @ qqa Rar 2 e F e &
| T4 #1WI
20. What role do the media and civil society play in shaping and sustaining social movements?

AHATTS® el T IMHR 3o 3R Taw @ & AfEFar ik [ aasd &
T HAFT B2

Case Study Based Questions

Case Study 1:

Ravi’s grandfather worked in a state-owned steel plant during the 1970s. He had job security,
pension benefits, and fixed working hours. However, Ravi, who graduated in 2020, joined a private
IT company where he works on contract with no job security and has to constantly upgrade his
skills to remain employable.
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T & TET 1970 & &2Hh H Teh TXHRT T Tolic H HH Fd A| 3och UTH Aiepdr &
[RAT, gereT omet 3R fARad #r g¢ Al grelifeh, I, 2020 H FAAR g3, T fASH
3MSET AT H eI & ITUR W HH HIcT g, ST6T aAlehdl T s FRET =g § 3N 38
TIMAR 379eT PIRST P 3oold HLT IST &

Questions / R4

1. How does Ravi’s work situation reflect the shift from planned industrialization to
liberalization? (I mark)

T 1 e fEufa Areereey AHeaefietor § 3eIsHor # §U Seea & $8
gAY 82 (1 37%)

2. Compare the working conditions of Ravi and his grandfather. (1 mark)
a 3R 3@ arer &1 w3 aRfEufaat & Jo=m w1 (7 37%)

3. I8 YR IHRIHS & AT AGRIAD? (1 3H)

Is this changes Positive or Negative? (1 Mark)

4. 1970 & TYH B JT H 2020 H ASHIR DI AT H FIT gaeld AT 57 (2 37h)
How has the employment structure changed from the 1970 to 2020? (2 Mark)

Case Study 2:

Pooja, a skilled textile worker, lost her factory job due to automation. She now works from home,
stitching garments on order, often facing irregular payments and long hours.

YolT, Ueh (T a&d Affeh, o Taarole & HROT 39el herdl T witehdl @ &1l 319 98 &
¥ #H A §, 3R W H93 qeldl g, ot MA@ oporarer 3R o9 & g &

JATIT T GTHAT Hdr gl

Question / 90T

I- gor #r Feufa 3myferen Jieafae Famst 7 $r afhanst # g IRads 1 8
gAY 82 (1 37%)

How does Pooja’s situation reflect the changes in work processes in modern industrial society? (1)
2- T 3 o B @ A @ @ e (1 i)

Why did Pooja lose her factary job? (1 Mark)

3- AB @H & 918 ol 59 UdR & SR R I 8?7 (1 3(h)
What kind of work is Pooja doing after losing her job? (1 Mark)

4- ol &1 304 T BRI H T FHRAT3T BT AHAT BRAT IS V&l &7
What Challenges does Pooja face in her new work? (02 Mark)
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Case Study 3:

Workers at an automobile factory go on strike demanding higher wages and better working
conditions. The management calls the police to control the protest, and some workers are dismissed.

Teh JNCIATSel thefdl & Holgy gl ddel 3R w1 EAfdal 1 A9 & o g5l W
Tl ST 81 Joee fay &l Aafd e & fav gfed & gorar 8, 3R o s #i
AR T e fear sirar g

Question / 90T

1- Explain the role of trade unions in addressing workers' grievances and the challenges they face in
today’s industrial society. (2 marks)

¢3 ATl i Asiqyl @ RBRIEl FF g7 X H T H{fAH gl 8, AR 3 &
e faeh FATST A 3¢ ool FATIT T HIHAT AT ISAT 82 (2 FHF)
Question / 90T

1. AOIGR BSAld R FI T 92 (1 3()
Why did the Workers go on strike? (1 Mark)
2. g9 7 faRT &1 afaa & @ forg =& wed 3919? (1 37®)

What steps did the management take to contral the protest?

3. AoIgRl @ AB | FdbIel ST &7 1 94919 U7 (1 3id)
What was the impact of workers being dismissed from their jobes? (1 Mark)
4. ¢ AT B A9 @ Rl & R & H 7 4fAd Bl 8? (2 3id)

Explain the role of Trade Unions in addressing workers’ grievances. (2 Marks)

Case Study 4:

A group of construction workers, struggling with low wages and unsafe working conditions, forms
a union to negotiate with the contractor. They organize peaceful rallies but face resistance from
authorities.

fA#ToT 4TAST F1 T Fogg, S HA dda IR IGIERT F aRIEUfE @ S @ g,
SheR @ dlHld e & U Tk Iiael aaran g1 d enifaqet edr 3maferd 3 &,
Afhel 3o TUTHaT & ORI 1 ATHAT FAT IST gl
Question / 90T
1. 0T sifet =1 e @t 99E? (1)

Why did the construction workers form a union?

2. AP 7 I TTRIRN B ISR B B ol I HEH I3W? (1)
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What steps did the workers take to highlight their issues?
3. siffA®! &7 Uee A 5 UeR & fOR &1 A A1 g9 (1)

What kind of opposition did the workers face from the management
4. DT DT AR BT B A B foIU FIT HSH ISIY ST Ahd 287(2)

What steps can be taken to resolve the workers’ issues.

Case Study 5:

In a village, Dalit communities organize a protest against caste-based discrimination in temple
entry. They demand equal rights and legal protection.

T Al H, Sl FHETT AT H AU Hl ol SiTicered deena & @omd faier gedier
A 1 9 FAW HADPR 3R el GI&T T AW wd §
Question / 90T

1. Tfold Ve 1 foR Uee @i fdhar? (1 i)
Why did the dalit community protest? (1 Mark)

2. SICRTA 9e¥Td & RaelT® BI—dbF I B Alog oe (1 3id)
Which laws exist against caste based discrimination?
3. IRA ¥ o a1 ¥ sfora efeRT & fow wuy faar (1 af®)
Which leader fought for dalit rights in India? (1 Mark)
4. ST HewTd 9 fued & fofy \AreT # 7 95ald Mmaedd 82 (2 i)
What changes are necessary in society to eliminate caste discrimination?(2 Marks)

Case Study 6:

A tribal community opposes a large dam project that threatens their homes and environment. They
launch a protest, demanding rehabilitation and environmental protection.

T AN FHST Teh §3 &1 RIS & faUVT ar § S 3ot BR7 3N qifawor
& [T TRT &1 9 A 3R GITEROT HIEGTOT AT ANT Al Ao AR Gedled Y& A
gl

Question / 9T

1. Mfeary e fe gRATSHT &1 foReT &) &7 221 3id)

Which project is the tribal community protesting against?

2. ST AYST DI g AT T AP (1 3h)

What was the main demand of tribal community?

3. dfer foHior | anfearRal &1 @ar G| 8 Hadl 2°(1 3id)
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Which harm can dam construction cause to the tribals?

4. TReNfUT TRl &1 WAl & foll TRGR P T HEH IoT A (2 (D)

What steps should the government take to help displaced communities?
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